
  

                    
          

 

         
           

     

    

            
    

            
   

  

          

         

          
        
              

 
          

      
     

      
      

        

 

 
        

 
      

          
  

  

        
       

 

           
      

  

Proctoring Guidelines 

Before the Test 

Consult the instructor and/or test to find out what, if any, additional materials students are allowed to access during the 

 倀匀䘀

Consult 
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